20Hz
1-20Hz
2
1-80 Hz
3 G
1-20Hz
7196
1Hz
-1.1 -1.1

1-20Hz

10Hz

0dB
20Hz

20HZz20kHz
13
2-16Hz

100Hz

1/3
2-63 Hz

A
1-20Hz  12dB/oct.
24dB/oct.



10
- 0 —————— ————_4_/_\.___- _______
5 1 4 16 \ 63
S
-10 \
-20 G
-30 \
-40 \
_50 A}
-60
1/3 /Hz
-1.1
-1.1
G
/Hz /dB /dB /dB /dB
1 0 + 3 -43 + 3
1.25 0 +3 -375 +3
16 0 +3 -32.6 +3
2 0 + 2 -28.3 + 2
25 0 + 2 -24.1 + 2
3.15 0 +15 -20 +15
4 0 +1 -16 +1
5 0 +1 -12 +1
6.3 0 +1 -8 +1
8 0 +1 -4 +1
10 0 +1 0 +1
12,5 0 +1 4 +1
16 0 +1 77 +1
20 0 +1 9 +1
25 0 +1 37 +1
315 0 +1 -4 +1
40 0 +1 -12 +1
50 0 +1 -20 +1
63 0 +1 -28 +1
80 0 +15 -36 +15




p p (=2x 10° Pa)
10 dB
1-20Hz
1/3
1/3
&P o
Lp=10xlog ,,G—+
ep,o
L, (dB)
p (Pa)
Po 2x 10° (Pa)
5 G
1SO-7196
2x 10° Pa, : dB

2 P
Le = 10X0g, Coe 2
ep’ o

L. G (dB)

b G (Pa)

Po 2x 10° (Pa)

(

1)

2)



